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IASBABA TEST 28 GEOGRAPHY

Which of the following is/are the economic factors that influence the distribution of Population?

1. Availability of land and water 2. Industrialisation 3. Urbanisation 4. Standard of living
Choose correct option from below:
a) 1 only b) 1 and 3 only ¢) 2and 3 only d) All of the above

Consider the following with respect to fertilizer availability in India

1. Alluvial soils are rich in nitrogen hence need less urea 2. Subsidy on fertilizers started only after 1977
3. Urea marketing is de-regulated in India

Which of the above statement is/are correct?

a) 2 only b) 1 and 2 only ¢) 2and 3 only d) All of the above
Food corporation of India plays important role in managing food resources in India. In this context,
consider the following statements:

1. FClI procures food grains in limited quantity from farmers within fixed quota of states

2. The economic cost to FCI includes acquisition cost of food grains at MSP and procurement incidentals

only
Which of the above statement is/are correct?
a) 1 only b) 2 only c¢) Both 1 and 2 d) None of the above
The terms reh, usar, kallar are used for?
a) Acidic soils b) Alkaline soils c) Peaty soils d) Black soils

India has one third of agriculture land under irrigation. In this context, arrange the following in
decreasing order with respect to percentage of irrigation coverage:

1. Canal system 2. Wells and tube-wells 3. Ponds and tanks
Choose correct option from below:
a)l-2-3 b)y2-1-3 c)3-2-1 d3-1-2

Consider the following statements with reference to village classification on the basis of forms or

shapes of the settlements:

1. In double village form settlement houses are located along a road, railway line, river, canal edge of a
valley or along a levee

2. Rectangular pattern develops around the lakes, tanks, etc.

3. In star like village settlement develops where several roads converge and houses are built along the

roads.
Which of the above statement is/are correct?
a) 3only b) 1 and 3 only c) 2 and 3 only d) All of the above

Which of following option correctly represent the hierarchy of Urban settlements from small to big

settlements:

a) City — megalopolis — town — conurbation b) Town — city — conurbation — megalopolis

¢) City — town — megalopolis — conurbation d) Conurbation - Megalopolis — city — town

Consider the following with respect to trends in Urbanization:

1. The Developing Asia group urbanized faster than the rest of the world not only in terms of absolute
growth but also in terms of the growth rate.

2. Globally, more people live in urban areas than in rural areas.

Which of the above statement is/are correct?

a) 1 only b) 2 only c) Both 1 and 2 d) Neither 1 nor 2

Indira Gandhi canal is largest irrigation canal. This canal passes through which of the following

states?

1. Punjab 2. Rajasthan 3. Haryana
Choose correct option from below:
a) 2 and 3 only b) 1 and 2 only ¢) 1and 3 only d) All of the above

Consider the following with respect to cropping intensity in India:
1. Cropping intensity is more than 150% in India 2. State with highest cropping intensity is Uttar Pradesh
Which of the above statement is/are correct?

a) 1 only b) 2 only ¢) Both 1 and 2 d) Neither 1 nor 2
What are the determinants of cropping pattern in India?

1. Farm size 2. Land tenure 3. Availability of inputs

4. Market prices of food grains 5. Climate

Choose correct option from below:
a) 1 and 2 only b) 3and 4 only ¢) 1and 5 only d) All of the above.



